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Grade 12 Advanced Functions (University Preparation)

Semester 2, 2008 - 2009

Unit 1 — Exponential and Logarithmic Functions — Quest on Mechanical Questions
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1. Complere each of the followmg statements, (8 KU)
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(a) Sazb log (a— b) in exponential form. (2 KU)

3a b‘/(u b)
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(b) [%J =z in logarithmic form. (2 KU)

= | A
hFe et

\ | ]
'bt'dt" IS FE

3‘. Use the laws of li‘;garithms to wrire the following expression as a

single logarithm. Simplify fully! (4 APP)

1og[w(z ~2)5]+ log[ w'(z~3)]~log[ w*(z-2)]
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4. Evaluate. Show all work! (3 APP)
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5. Solve each of the following equations.

(a) >32‘=73"*' (3 APP) (b) 10" -10" =9900 (4 APP)
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| ,*’, 3'06)301 '—'%lO@;Lr +1033Lf Ja[_z[z—tl)j 3

;.., 51\03301 — L]—{%H’ e e g

', lagy0® = log, 4" ezl 92

@ e E / 2 —
B A ol dz.of o

g o L C 24Uz ) =C)

_ | , 2-4=0 or z+2 =0

* g G dnee L | i R SR
Aves /qO?L 5647[06/ 7%0’ I nadim'ssab e

Original égo{&n‘/&h e L C{—

7Cja- (b, #10n /?%Q e |

amdeﬁ.’n(’d)

[ KU | APP | TIPS | COM




